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Who served as the Chief Minister of Nagaland | 6.

for the longest tenure ?
(A) Hokishe Sema

(B) S.C.Jamir

(C) Vizol Angami

(D) John Bosco Jasokie

How many times has the President’s Rule
been imposed on Nagaland so far ?

(A) Never
(B) Once
(C) Twice
(D) Four times

With which of these countries does India share
the maximum length of International border ?

(A) China

(B} Bangladesh
(C) Pakistan
(D) Nepal

At which of these places would gravity be the|9.

minimum ?

{A) Bottom of the ocean
‘(B) Equator

(C) Poles

(D) Same everywhere

Which of these tribes do the renowned folk
singers ‘The Tetseo Sisters’ belong to ?

(A) Angami
(B) Chakhesang
(C) Ao

(D) Chang

10.

7

24
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Titan is a satellite of which planet ?

(A) Mars

(B) Jupiter

(C) Saturn

(D) Mercury

Lemon primarily contains which of these
acids that imparts the distinctive flavour to
it?

(A) Nitric acid
(B) Citric acid
(C) Benzoic acid
(D) Lactic acid

What does ‘N’ stand for in the full form of
CNG gas ?

(A) Non-combustible
(B) Nitrogenous

(C) Non-compressible

(D) Natural

Which of these is not a law named after its
discoverer ?

(A) Archimedes’ Principle
(B) Hercules’ Theorem

(C) Bernoulli’s Principle
(D) Pythagoras’ Theorem

Mole is the SI unit to measure which physical
quantity ?

(A) Intensity of light
(B) Solid angle
(C) Conductivity

(D) Amount of substance
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11.

14.

15.

At what temperature does water have
maximum density ?

(A) —4°C

(B) -6°C

(C) #C

D) 0°C

Abacus was discovered in which country ?
(A) Egypt

(B) India

(C) China

(D) England

How old was Babur when he ascended his
father’s throne ?

(A) 8yearsold

(B) 12 yearsold

(C) 14 yearsold

(D) 16 years old

Isaac Newton was born in which country ?
(A) Italy

(B) Germany

(C) Russia

@) England

In which year did the famous physician turned
footballer, Talimeran Ao, captain the Indian
football team at the Summer Olympics ?

(A) 1944
(B) 1948
(C) 1952
(D) 1956

(3)

16.

17.

18.

A
Wall Street : New York : : Dalal Street: 2.
(A) Mumbai
(B) Chandigarh
(C) Ahmedabad
(D) Kolkata
What is the official residence of the Indian
Prime Minister ?
(A) 11, Ashok Road
(B) 10, Akbar Road
(C) 7, Lok Kalyan Road
(D) 1, Anne Marg

What is the nature of naturally occurring,
pollution-free rainwater ?

(A) Neutral

(B) Slightly acidic

(C) Highly acidic

(D) Slightly basic

Kiren Rijiju holds which of these portfolios in
the current Union Cabinet in the capacity of
Minister of State ?

(A) Consumer Affairs

(B) HRD

(C) Wﬁ

(D) HomeAﬁ'an's

Which of the following options is least like the
others ? .

(A) Football

(B) Cricket’

(C). Boxing

(D) Hockey

12 1 13 | 14
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Whatiathesumofthoﬁutﬂtemofthe 26. What is India's rank among the top milk

series:“~1,2,-3,4,-5,6,..."? producing countries for the year 2014 - 15 ?
-9 (B) 2™
(C) 27
() g™
(D) -11
(D) 5™
What causes the meteorological phenomenon
of Rainbow ? 27. Largest wheat producing state of India is
(A) Reflection of light (A) Punjab
(B) Refraction of light (B) West Bengal
(C) Dispersion of light (C) Bihar

(D) All of t} (D) Uttar Pradesh

i ot e G i i i the . Mok kv i e

wettest place in the world ? then he would be able to travel 30 kilometres

W " G more in the same time. What is the value of
Amboli, Mahar ' ? 3

(B) Agumbe, Karnataka (A) 25 '

(C) Mannar, Kerala (B) 12

(D) Mawsynram, Meghalaya :l():i :

Currently, India is the world's largest
producer of which of these agricultural | 29, lﬁnaparticulnryeuﬂmthirdSundayofng

commodities ? falls on 19" May, then which day of the week
(A) Rice wuitonzou'Aptﬂofduumeyur?
(B) Jute (A) Monday
(B) Tuesday
f¥e
(C) Coffee (©) Saturd
(D) Tomato (D) Sunday

ey's Comet keeps returning to pass by the |30,  Which of these places is f for diamond
Earth’s atmosphere after a gap of s ?° ese p 15 famous for diamon

approximately how many years ?

(A) Jamshedpur, Jharkhand
(A) 13 years

(B) Silchar, Assam
(B) 27 years

(C) Kannur, Kerala
(C) 49 years

(D) Panna, Madhya Pradesh
(D) 76 years

21122123124 |25|26|27 28|29 30
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31. In which State is ‘Bhilai Steel Plant’ located ? [36. Which of these cities is known as the ‘Scotland

of the East’ ?
(A) Bihar
(A) Shillo
(B) Rajasthan -G
(B) Darjeelin
(C) Gujarat " €
(C) Shimla
(D) Chhattisgarh
(D) Dhanbad
32. The industrial town of Digboi is famous for
which of these industrial products ? 37. During which time period was the First World
War fought ?

(A) Textiles

(A) Sep, 1911 - Apr, 1914
(B) Newsprint

(C) Steel (B) Sep, 1913 — Dec, 1917

(C) July, 1914 — Nov, 1918
(D) Oil and Petroleum

(D) Feb, 1909 — Apr, 1913
33. Deficiency of which of these vitamins/minerals

causes Goitre ? 38. In which country is the active volcanic
mountain ‘Mount Fuji’ located ?

(A) Vitamin A
(A) China

(B) Vitamin C
(B) Mongolia

(C) Zinc
(C) Philippines

(D) Iodine PR
(D) Japan

34. In which State is the Dabolim International
Airport located ? 39. In geographical terminology, what is a cluster

A) s Pradect or closely located chain of islands known as ?

(B) Goa (A) Estuary
(C)' Kerala (B) Archipelago
(Dj Purgah (C) Strait

(D) Gulf

35. By which of these Acts did the Britishers
introduce the concept of separate electorates |40. Gulf of Cambay is located adjacent to which of

on the basis of religion for the first time ? these States of India ?

(A) Montagu-Chelmsford Reforms (A) West Bengal

(B) Rowlatt Act ‘ (B) Gujarat

(C) Minto-Morley Reforms (C) Odisha

(D) Indian Councils Act (D) Goa
Q:|31]32|33|34|35|36|37|38]|39]40
AA-D/ D/ D B|C|A|C|D|B|B
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41.

(6)
Indian born Indra Nooyi is the CEO of which

of  these international conglomerate
companies ?

(A) General Electric
(B) HSBC

(C) PepsiCo

(D) Shell

Tishi river is the tributary of which of these

rivers ? 47.

(A) Doyang
(B) Dikhu
(C) Dhansiri
(D) Tizu

The ratio of boys and girls in a class is 5 : 3. If
40% boys and 33-33% girls know French, then

what percent of the total students know 48.

French ?
(A) 25%
(B) 345%
(C) 375%
(D) 39%

How many diagonals does a regular pentagon
have ? \

(A) 5
(B) 8
© 9
(D) 10

A wall clock when viewed at 8:35 AM/PM in a

mirror would appear to show which of these 50.

timings ?

46.

49.

SCSP-17

The much fabled rust-resistant Iron Pillar of
Mehrauli’ is located inside the premises of
which of these great monuments ?

(A) Taj Mahal, Agra

(B) Sun Temple, Konark
(C) Qutub Minar, Delhi
(D) Hawa Mahal, Jaipur

Suman buys a chair for ¥ 400 and spends
another T 80 to get it painted. He then sells
the chair to Vivek for ¥ 600. What is his profit
percentage ?

(A) 20%

(B) 25%

(C) 3333%

(D) 66-66%

Which set of words cannot be formed by using
only the letters available in the word.
‘COMBUSTIBLE’ ? 3

(A) COLUMB, EMBOLIC
(B) LOBBIES, COSTUME
(C) STUMBLE, CAMEO

(D) STUBBLE, BUMBLE

A number ‘N’ is first multiplied by 1-2 and
then divided by 1-5. What is the overall
change percentage in N ?

(A) 80% increase

(B) 30% decrease

(C) 25% increase

(D) 40% decrease

Which country hosts the annual Cannes

International Festival ?
(A) 8:35 AM/PM (A) Rusesa
(B) 4:25 AM/PM (B) Australia
(C) 3:25 AM/PM (€) Fianco
(D) 4:35 AM/PM (D) Spain
Q: |41 |42 |43 |44 | 45 | 46 | 47 | 48 49 50
A|C|A|C|A|B|C|B]|C D C

Equal mark to all
(Right Ans: 20%)
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51.

Which of these astronauts of Indian origin was | 56.

awarded the ‘Hero of the Soviet Union’ honour
by the Russian government ?

(A) Kalpana Chawla
(B) Rakesh Sharma
(C) Sunita Williams
(D) Ravish Malhotra

Sunil has a large cube having dimensions
4 cm * 4 cm * 4 cm. He paints the two opposite

parallel surfaces of the cube with yellow colour | 57.

and remaining four surfaces are left
unpainted. He now cuts the cube into smaller
cubes having dimensions 1 cm # 1 cm *= 1 em.
How many such smaller cubes will not have
yellow colour on them ?

(A) 27
(B) 32

©) 42 58.

(D) 48

Commonly available saline solution used for
medical purposes is actually a mixture of
water and
(A) lodine

(B) Common Salt

(C) Glucose 59.

(D) Protein

»

Choose the correct order of alignment of the
celestial bodies for a Solar eclipse to occur.

(A) Sun - Earth — Moon
(B) Moon - Sun —~ Earth
(C) Earth — Moon —- Sun
(D) Both (A) and (B)

The main reason for the presence of mammoth

ice caps at the poles of the Earth is

(A) Gravity is minimum at the poles

(B) Axial tilt of the Earth

(C) Radius of the Earth is minimum at the
poles

(D) Presence of magnetic radiation

(7)

A

Subho sells cheese to his customers using a
weight which has a print of 1 kg but in reality
has a weight of only 800 grams. If Subho
starts selling cheese at a 10% cheaper rate to
attract customers, then find his profit/loss%.

(A) 11-11% profit
(B) 33-33% profit
(C) 10% loss

(D) None of these

What does the letter ‘M’ in the name of the
multinational technological company IBM
stand for ?

(A) Module

(B) Machines

(C) Multipurpose

(D) Marketing

The international conflict known as the
:i;tnam War was fought between Vietnam

(A) USA.

(B) Russia

(C) China

(D) North Korea

Which Indian city became the site of the
world’s worst industrial disaster when a gas

leak in 1984 resulted in more than 3700
deaths ?

(A) Madurai
(B) Bangalore
(C) Bhopal
(D) Patna

Who was Hitler’s contemporary Soviet dictator
who led the Russian Federation during World
Warll?

(A) Lenin
(B) Stalin
(C) Putin
(D) Yelstin

56 | 57 | 58 | 59 | 60

Q: | 51|52 |53|54|55
A:|B|B|B|C|B

BIA| C|B
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Indian Railways sells the packaged drinking
water under the brand name of

(A) Jal Jeevan
(B) Swachch Jal
(C) Rail Neer
(D) Rail Jal

The country of UAE is part of which
continent ?

(A) Asia

67.

(B) Europe
(C) Africa

(D) North America

The disaster of the Titanic ship took place in
which of these oceans ?

(A) Arctic Ocean

(B) Antarctic Ocean

(C) Pacific Ocean

(D) Atlantic Ocean

Which politician from Nagaland received the
prestigious Padma Shri Award for the year
20167

(A) TR.Zeliang
(B) Tokheho Sema

(C) Padmanabha Acharya
(D) S.C.Jamir

Ram Jethmalani is a prominent Indian citizen
known for his prowess in the field of

(A) Music
(B) Law
(C) Medicine
(D) Literature

SCSP-17

signed ?

(A) 1967

(B) 1972

(C) 1975

(D) 1981

Which is the least populated district of
Nagaland ?

(A) Phek

(B) Wokha

(C) Longleng

(D) Kephire

Which district of Nagaland has the highest
literacy rate ?
(A) Wokha

(B) Mokokchung
(C) Mon

(D) Kohima

-t

Which Indian city is known for its large scale
production of oranges and is often called as the
‘Orange Capital of India’ ?

(A) Shimla

(B) Mysore

(C) Jaisalmer

(D) Nagpur

The art form of ‘Kathputli’ (literal meaning :
Doll of Wood) is traditional to which Indian
State ?

(A) Rajasthan

(B) Odisha

(C) Jharkhand

(D) Himachal Pradesh

61 | 62 | 63 | 64 | 65

66 | 67 | 68 | 69 | 70

>

C|C|B|D|A
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71.

72.

73.

4.

75.

Which Indian State has the most dense forest | 76.
cover ?

(A) Punjab
(B) Jammu & Kashmir
(C) Madhya Pradesh

(D) Kerala

77,
If Jubin submits a leave of absence from

18™ January to 2°¢ March, then in total, how
many days of leave is he asking for ?

(A) 42
(B) 44
(C) 45

(D) Data insufficient
78.

Namdapha National Park is located in which
State of India ?

(A) Nagaland

(B) Assam

(C) Sikkim

(D) Arunachal Pradesh

Aung San Suu Kyi is the world famous leader 79.
and diplomat belonging to which country ?

(A) Burma

*

(Bi Vietnam
(C) Japan
(D) Bhutan

How many numbers between 11 and 111 (both
inclusive) are multiples of 3 ?

(A) 35
(B) 34
(C) 36
(D) 38

A

In how many ways can 4 books out of which
two are identical, be arranged on a shelf ?

(A) 6

(B) 10 -

©) 12

(D) 24

In which American city did Swami

Vivekananda deliver his famous lecture before
the delegates of the World Religion Congress ?

(A) Atlanta

(B) New Jersey

(C) Los Angeles

(D) Chicago

In Rudyard Kipling’s literary genius book,

The Jungle Book, what species of animal does
the character called ‘Bagheera’ belong to ?

(A) Black Panther (melanistic Indian
leopard)

(B) Monkey

(C) Lion

(D) Snake

The six siblings known as ‘Phogat Sisters’ are
all associated with which sport ?

(A) Kabbadi

(B) Wrestling

(C) Swimming

(D) Athletics

If Robin can buy 12 chocolates with the money
he has, then how many candies will he be able

to buy in the same amount if a candy is
66-66% cheaper than a chocolate ?

A) 8
(B) 24
(C) 30
(D) 36

7172 |73 |74 | 75|76

7778 |79 |80

>

D|A|B|D
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(10)

“Haldirams” is a famous brand dealing in
which of these items ?

(A) Electronic goods

(B) Paper and stationery

(C) Clothes and fabrics

(D) Food and snacks

Actress Deepika Padukone is the brand
ambassador for which of these banks ?

(A) Standard Chartered Bank

(B) ICICI Bank

(C) Axis Bank

(D) HDFC Bank

Which writ provided in the Indian
Constitution is invoked when a court asks a

person detained by police to be produced
before it ?

(A) Habeas Corpus

(B) Mandamus

(C) Certiorari

(D) Prohibition

Which of these Indian freedom fighters is
credited with popularising the festival of

‘Ganesh Chaturthi’ as a means to foster public
unity ?

(A) Lala L‘qiput Rai

(B) Bal Gangadhar Tilak
(C) Subhash Chandra Bose
(D) Gopal Krishna Gokhale

What was the name given to the joint military
exercise conducted by the US, India and
Japan, in June 2017, in the waters of Bay of
Bengal ?

86.

87.

SCSP-17
The critically acclaimed movie ‘Freaky Ali’
starring Nawazuddin Siddiqui is based on
which sport ?
(A) Golf
(B) Chess
(C) Tennis

(D) Boxing

Lufthansa Airlines can be best associated with
which of these countries ?

(A) Indonesia
(B) New Zealand
(C) Germany
(D) France

The State of Oudh or Awadh was annexed by
the Britishers by using

(A) The Sedition Act

(B) Doctrine of Lapse
(C) Subsidiary Alliance
(D) Regulating Act, 1784

-

What is the name of the mobile app launched
by the Indian government for road
maintenance ?

(A) Aarambh
(B) Suraksha
(C) Gati

(D) Sandesh

Nifty : India :: Nikkei: 2

(A) China
(A) Horizon Ski
’ 5 (B) Japan
(B) Malabar 2017
(C) South Korea
(C) Vision 2022
(D) Israel
(D) Derby 18
Q:]81(82|83|84|85|86|87|88|89|90
A:/D|IC|IA|B|B|A|C|B|A|B
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1.

Renowned academician, Arvind Panagariya,
recently resigned from the post of Vice
Chairman of which institution/organisation ?

(A) JNU

(B) NITI Aayog

(C) NCERT

(D) Planning Commission

Vibha is the daughter of Saloni's
brother-in-law, Suraj, How is Vibha's
grandmother related to Saloni’s son ?

(A) Grandmother
(B) Grand-daughter
(C) Cousin

(D) Aunt

All the girls of Sec A of Holy Faith School are
asked to stand in a straight queue. Shweta is
standing at the 26" position when counted
from the front end. Mona is standing
3 positions behind Shweta and when counted
from the back end she is at the 12' position.
How many girls in total are there in the
queue ?
(A) 38
(B) 39
(C) 40
(D) 41

If two of the three natural numbers ‘A’, ‘B’ and
‘C’ are odd and one is even, which of these
expressions will always be odd ?

(A) (A+B)/C

(B) A+B+C

(C) A+B+C
(D) AB+BC

The  flagship  programme  Livelihood
Intervention and Facilitation of
Entrepreneurship (LIFE) was launched
recently by which State government ?

(11) A

96. A sample of bacteria doubles its population
everyday. If the sample contains 15 million
bacteria on 4 July, then on which date will
the population of bacterial colony exceed
1 billion ?

(A 9™ July
(B) 10" July
© 11" July
(D) 18" July

97. Immediately before being elected as the
14™ President of India, Ramnath Kovind was
the Governor of which State ?

(A) Madhya Pradesh
(B) Haryana

(C) Gujarat

(D) Bihar

98. Barkha Dutt is a famous Indian
(A) Athlete
(B) Dancer
(C) Journalist
(D) Politician

99. In a race of 200 metres, Bijon was given a lead
of 156 metres but was still defeated by Sanket
by 5 metres. What is the ratio of the speeds of
Bijon and Sanket ?

(A) 10:9
(B) 3:1
(C) 9:10
(D) 1:3

100. Which of these prominent Indian festivals is
celebrated in the summer season ?

(A) Maharashtra (A) Diwali

(B) Meghalaya (B) Christmas
(C) Manipur (C) Karwa Chauth
(D) Sikkim (D) Baisakhi
Q:|91]92|93|94|95|96|97 98|99 100
A:/B|A|C|B|B|C|D|C|C D

Equal mark to all (spelling error).
(Correct Ans: Vaisakhi, celebrated in April)
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101. What is the number and tenure of members |106. Which of these words was not originally

nominated by the President to the Rajya mentioned in the Preamble of our
Sabha ? Constitution ?
(A) 8 members, 4 years (A) Sovereign

(B) 6 members, 6 years (B) Secular

(C) 10 members, 5 years
(C) Democratic

(D) Republic

(D) 12 members, 6 years

102. Which of these British officers followed the
policy of settling Kuki tribes along the|107. Which article(s) of the Indian Constitution
frontiers of Nagaland ? deal(s) with Fundamental Rights ?

(A) Captain Jenkins (A) Article 343
(B) Lieutenant Pemberton
(C) Colonel McCulloch
(D) William Bentinck

(B) Article 51A
(C) Articles 36-50

(D) Articles 12-356

103. Who became the President of the Naga
National Council/Forum after its relaunch in |108. Which article of the Indian Constitution deals

1946 ? with the imposition of the President’s rule ?
(A) T. Aliba Imti (A) Article 343 A
(B) Angami Zapu Phizo (B) Article 356 !
(C) T.Sakhire

(C) Article 370

(D) None of these
(D) Article 395

104. In which year did the then Indian Prime ) : - :
Minister visit Kohi along with the then 109. Which of the following subjects is part of the

Concurrent List ?
Prime Minister of Burma to met a Naga

Delegation? (A) Extradition
(A) 1951 (B) Fisheries
9
:g; 19: (C) Population Control and Family Planning
(D) 1961 (D) Defence
. 110. Which Union Territory of India has a complete
105. The Governor of Assam who had withheld the ’ .
Liquor Ban in place ?
results of Naga plebiscite and refused to ¥ .
forward it to the President was (A) Daman and Diu
(A) Vishnu Sahay (B) Pondicherry
(B) 8. Fazal Ali () Likabiadwaap
(C) Sri Jairamdas Daulatram
(D) Mohd. Akbar Hydari (D) Chandigarh
Q: | 101 102 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110
A:| D D A B C B D B C C
Equal mark
to all
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111. A bag contains 50-paisa, 1-rupee and 5-rupee
coins in the ratio 4 : 5 : 3. If the total amount
- in the bag is ¥ 132, then find the total number

of coins in the bag ?

(A) 42
(B) 48
(C) 60
(D) 72

112. If the sides of a square are doubled, then the

diagonal

(A) remains the same
(B) doubles

(C) becomes four times
(D) None of these

113. Four friends Amar, Bhanu, Chandan and

Diman participate in a race. Bhanu finishes
neither first nor last. Only one of his friends
run faster than Amar. Who won the race ?

(A) Amar

(B) Chandan

(C) Diman

(D) Data insufficient

114. Virat who is standing on his rooftop faces
south-west. He now turns left and then again
left. If Virat now turns to his back, which
direction is he facing ?

(A) South
(B) South-west
(C) North-west
(D) West

115. Which of these famous personalities has

founded the famous NGO ‘Being Human

(13)

A

116. ‘Periscope’ instrument works on the principle
of

(A) Reflection of Light
(B) Doppler Effect of Sound
(C) Magnetic Induction
(D) Thermal Imagery
117. Approximately what percent contribution of

India’s GDP comes from the agriculture sector
during 2013 - 14 ?

(A) 16% - 20%
(B) 356% — 40%
(C) 55% - 60%
(D) 70% - 76%

118. A per the last report of 2014, what is India's
rank among all the countries with regard to
total agricultural output ?

(A 1"
(B) 2"
(©) e®
(D) ot

119. The limit for the FDI in the Multibrand
Retailing sector is
(A) 26%
(B) 29%
(C) 49%
(D) 51%

120. Which of the following sectors is not open to

Foundation' ? Foreign Direct Investment ?
(A) Sachin Tendulkar (A) Defence
(B) Anna Hazare (B) Civil Aviation
(C) Salman Khan (C) Railways
(D) Baichung Bhutia (D) Telecom
Q: | 111 | 112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120
A:| D B D B C A A B D C
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121.

124.

(14)

Generally during which month is the famous
Goa Carnival held every year ?

(A) December

(B) February

(C) August

(D) October

Sunderban is known for which of these species
of endangered animals ?

(A) One-horned Rhinos

(B) Pink Albatross

(C) Royal Bengal Tiger

(D) The Black Buck

How many tiers of governance are there in the
Panchayati Raj system of governance ?

(A) 3

(B) 4

(C) 5

(D) Not defined

Which of these amendments in the Indian
Constitution led to the formal beginning of
Panchqyttilhiinl‘ndin?

(A) 42
(B) 58%
© 734

(D) 78

As per the Census of India, India is made up of
how many districts ?

(A) 625
(B) 640
(C) 644

(D) 556

126,

130.

SCSP-17

Which among the following statements is true
for the district of Kutch in Gujarat ?

(A) Driest district of India

(B) Wettest district of India
(C) Largest district of India
(D) Densest district of India

On which of these plants did the famous
scientist Mendel conduct his elementary

experiments to study Genetics ?
(A) Brinjal

(B) Peas

(C) Onion

(D) Apple

Adrenaline is the common name for which
hormone ?

(A) Thyroxine

(B) Melatonin

(C) Testosterone

(D) Epinephrine

In which part of the body is the hormone
Serotonin produced ?

(A) Thyroid gland

(B) Intestine

(C) Pituitary gland

(D) Spleen

To which phylum of animals do earthworms
belong ?

(A) Mollusca

(B) Arthropoda

(C) Annelida

(D) Echinodermata

121 | 122 | 123 | 124 | 125

>

126

127 | 128 | 129 | 130
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132.

133.

134.

135.

(15) A
131. ‘Epiglottis’ in our body is a part of which|136. Followers of which religion/faith pray in a
system ? Synagogue ?
(A) Nervous system (A) Judaism
(B) Digestive system' -
. (B) Zoroastrianism
(C) Urinary system
(D) Muscular system (C) Baha'ism
(D) Scientology
The is a roughly triangular
accessory organ of the digestive system located | 137 The recommendations of Balwant Rai Mehta
to the right of the stomach, just to the bottom Committee led to the introduction of
of the diaphragm and the top of the small in India ?
intestine.
(A) pancreas (A) IITs
(B) liver (B) SC/ST Commission
(C) large intestine (C) Railway reservations
(D) pharynx
)P (D) Panchayati Raj
The phenomenon of ‘Crossing Over’ in science . . . .
is most likely to be a subject matter of interest 138. Which of the following diseases does not fall in
o STD category ?
(A) Astrophysicists (A) HIV
(B) Nuclear Scientists (B) Syphilis
C) Optici '
(€3 -Opticians (C) Gonorrhoea
(D) Geneticists
(D) Gangrene
How much times does it take for the sunlight
to reach the Earth’s surface ? 139. Which of these physical changes signal the
) onset of secretion of human male sexual
(A) 7 mins 30 secs * hormones ?
(B) 8 mins 20 secs (A) Gain in weight
(C) -9 mins 40 secs (B) Broadening of hip
(D) 12 mins 30 secs (C) Loss of milk teeth
What is the average height of the innermost (D) Coarsing of voice
layer of the atmosphere, the Troposphere ‘
from the Earth’s surface ? 140. TFallopian Tube’ is part of which of these
human systems ?
(A) 12km
(A) Respiratory system
®) 15km ‘ PR
(B) Excretory system
(C) 56 km i
(C) Reproductive system
(D) 108 km
(D) Digestive system
131|132 | 133 | 134 | 135|136 | 137 | 138 | 139 | 140

>

A | D D | D | C
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141.

142.

143.

144.

145.

(16)

Read the statements carefully and select the
correct sentence/s.

1. Cytoplasm of a cell is a liquid suspension
containing other vital cell organelles.

2. Mitochondria is present only in animal

cells.

Only 1

Only 2

Both 1 and 2

Neither 1 nor 2

(A)
(B)
(&)
(D)

The fabled traditional romantic story of Jina
and Etiben, often known as Romeo and Juliet
of Nagaland, can be associated with which of
these places ?

(A) Mopongchuket
(B) Longjang

(C) Peren

(D) Ungma

What is considered to be the ideal human
heartbeat rate per minute ?

(A) 90-120

(B) 30-60

(C) 60-100

(D) None of these

The category of medicines that reduce pain
without inducing unconsciousness is known
as

(A) Analgesics
(B) Sedatives
(C) Tranquilizers
(D) Hypnotics

A

On the evening of which day did Narendra
Modi, the Prime Minister, announce the
decision to take Z 500 and ¥ 1,000 notes out

of circulation, a step popularly termed as the
Demonetization of 2016 ?

(A) 2™ October
(B) 8™ November
(&)} 12'® November
(D) 6" December

1486.

147.

148.

149.

150.

SCSP-17

Which of these personalities served two terms
as the President of India ?

(A) Dr. Rajendra Prasad
(B) Dr. S: Radhakrishnan
(C) Dr. Zakir Hussain
(D) None so far

The city of Cancun is located in which
country ?

(A) China
(B) Mongolia
(C) Mexico
(D) Brazil

Which of these places in Nagaland has been
declared as the ‘Land of Plenty’ by the State
government ?

(A) Mon

(B) Kohima

(C) Chumukedima
(D) Wokha

Which is the only human cell that has a
flagellum ?

(A) Blood cells
(B) Sperm
(C) Neurons

(D) Liver cells

Which of these cell organelles is known as the
‘power house of the cell’?

(A) Ribosomes
(B) Vacuoles
(C) Mitochondria
(D) Lysosomes

141 | 142 | 143 | 144

145

146

147 | 148 | 149 | 150

>
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151.

153,

154.

155.

The transmission provided by the All India
Radio is known commonly as

(A) Doordarshan
(B) Chhayageet
(C) Indradhanush
(D) Akashvani

¥ 60,000 is invested partly in a scheme
offering 8% interest and partly in a scheme
offering 12% interest. If the total interest
earned in a year is ¥ 6,600, then how much
money was invested in the first scheme?

(A) ¥ 12,000
(B) ¥ 15,000
(C) ¥ 20,000
(D) ¥ 45,000

(17)

A

156. The Leaning Tower of Pisa’ is located in which

157.

country ?
(A) France
(B) Egypt
(C) Italy
(D) Iran

Which of these is not considered to be among
the Seven Wonders of the Ancient World ?

(A) Lighthouse of Alexandria
(B) Pyramid of Giza
(C) Great Wall of China

(D) Hanging Garden of Babylon

6 litres of paint is needed to completely paint a | 158. What will be the next term of the series
large cube. If the cube is broken into two equal “2, 12, 30, 56, 90, ..." ?
halves, then how much paint would now be
required to completely paint both the smaller (A) 112
s B) 120
(A) 666 lts
(B) 751ts (€) 124
(C) 8lts (D) 132
(D) 9lts
159. Find the odd-one-out.
In which year was the Kargil War between
India and Pakistan fought ? (A) Teacher
(A) 1996 (B) Doctor
@ 190 () Police
(C) 2001 @) Driver
(D) 2003
160. F N Swuro

The most common blood group found in . unoua - ;npompeuon e
human population is is associated with which sport ?
(A) A (A) Chess
(B) B (B) Boxing
(C) AB (C) Swimming
(D) O (D) Archery

Q: | 151|152 | 153 | 154 | 155 | 156 | 157 | 158 | 159 | 160

A:| C D D A D C C D C D
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A
161.

162.

163.

l“.

165.

(18)

Recently, the Prime Minister of Pakistan,
Nawaz Sharif was removed from office by
Pakistan’s High Court because

(A) he had links with extremists.

(B) his citizenship was revoked so he was
removed.

he used fake documents to contest
elections.

his name surfaced in Panama Paper leak
Tax evasion scandal.

(C)

(D)

Which movie won the Best Movie Award at the
62" Filmfare Awards ?

(A) Pink

(B) Neerja

(C) Udta Punjab

(D) Dangal

-MUDRA scheme launched by the government

works in association with which of these

166.

167.

168,

SCSP-17
to turn the Goods and Services Bill into a
law ?
(A) 118%
(B) 120"
(€ 122™

(D) 127%

The scheme launched by the Indian
government with an aim to make flying in
airlines affordable for the common man is
known as

(A) AADHAR
(B) KADAM
(C) AASMAAN
(D) UDAN

Sunil Kakar was recently appointed as the
CEO and MD of which of these banks ?

financial institutions ? (A) IDFC
(A) SIDBI (B) HDFC
(B) IDBI (C) HSBC
(C) ICICI (D) SIDBI
(D) NABARD

169. The Union Budget for 2017 has allocated
described as (Mahatma Gandhi National Rural

. . Employment Guarantee Act) ?
(A) a messaging platform provider. (A) T 45,000
(B) a taxi aggregator. (B) T 48,000 crores
(C) adigital payment gateway. (C) ¥ 50,000 crores
(D) an e-Commerce website. (D) T 55,000 crores
India purchases the Rafale Fighter Jets from |170. International Yoga Day is observed on which
which of these countries ? day ?
(A) Israel (A) 21% June
(B) Italy (B) 3™ March
(C) France (C) 5™ September
th . .
(D) USA. (D) 26™ April
Q: | 161|162 | 163 | 164 | 165 | 166 | 167 | 168 | 169 | 170
A:| D D|A|C|C|C|D|A|B]|A
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171

172.

173.

174.

175.

Asian Development Bank has recently entered
into an agreement with which State
government to boost its road and highway
infrastructure ?

(A) Chhattisgarh

(B) Odisha

(C) Bihar

(D) Uttar Pradesh

(19)

176.

l ".

A

If F x (BELL) = CDMK; F x (GONE) = HNMF,
then F x (PASS) = ?

(A) MBSR
(B) QZTR
(C) OBTR
(D) QAST

The international organisation that provides
humanitarian relief and medical aid at times

of disasters and wars is
Which country hosted the 2017 Women's
Cricket World Cup ? (A) UNESCO
(A) Afghanist (B) Red Cross
(B) Australi (C) Amnesty International
(C) England (D) Friends Without Borders
(D) South Africa 178. *Tirthankaras’ are spiritual teachers and
leaders of the followers of which religion ?
Which Indian State has the longest coastline ? (A) Jainism
(A) Rajasthan (B) Buddhism
(B) Kerala (C) Sikhism
©) Gujarat (D) Baha'ism
(D) Tamil Nadu
179. Which of these sites of Indus Valley
Civilization is located in present day
What is the state animal of Nagaland ? Pakistan ?
®) Mithon - (B) Dholavira
(C) Deer (C) Mohenjo-Daro
(D) Red Panda (D) Kalibangan
‘Kapil Sharma’ is a famous Indian 180. Which ruler of Gupta dynasty was famous for
il 2t his skills as a good ‘Veena' musical instrument
(A) Architect player ?
(B) Surgeon (A) Vikramaditya
© C iy Artist (B) Samudragupta
(C) Chandragu
(D) Journalist e
(D) Kumaragupta
Q:| 171|172 | 173 | 174 | 175|176 | 177 | 178 | 179 | 180
Albfclc|Blc|B|B|A|C]|B
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181. ‘Piranha’ is a species of 186. Tim Cook is the CEO of which multinational

technological giant com ?

(A) Cow ogical gnan pany
(A) le

(B) Monkey App
(B) Google

(C) Tiger
(C) IBM

(D) Fish
(D) Yahoo

182. Which Mughal ruler started a new religion

called ‘Din-i-Illahi’ ? 187. The famous artist Sudarsan Pattnaik uses
which of these media to make his sculptures ?

(A) Babur
(A) Wax

(B) Jehangir
(B) P

(C) Akbar .
(C) Waste Cans and Bottles

(D) Shah Jahan
(D) Sand

183. Gol Gumbaz of Bijapur is the final resting
place of which of these rulers ? 188. Aqua Regia is a yellow-orange coloured liquid

. . used by jewellers to clean and dissolve noble

(A) Sher Shah Suri metals like gold and platinum. It is actually a

(B) Alauddin Khilji mixture of nitric acid and
(C) Adil Shah (A) Citric acid
(D) Nadir Shah Abdali (B) Hydrochloric acid

(C) Tartaric acid
184. Cellular Jail, better known as Kaala Paani

was a colonial era prison notorious for high (D) Lactic acid

death rate. Where is it located ? .

(A) Pondicherry : 189. mtoémg;summedforthepm
(B) Kanyakumari (A) Xenon

(C) Andaman-Nicobar Islands (B) Acetylene

(D) Lakshadweep (C) Methane

(D) Carbon monoxide
185. Which is the longest day of the year in the

Novtusvis Hesibphore 7 190. Which of these noble gases is used in the
(A) 2"‘Febmnry manufacturing of filament bulb ?
(B) 21 June (A) Xenon
(B) Neon
(C) 23™ December
(C) Argon
(D) B‘hMay (D) Radon

181|182 | 183 | 184 | 185 | 186 | 187 | 188 | 189 | 190

>
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191.

192,

l”.

194,

195.

Consider the two statements given below to be
true and decide which of the following
conclusions is/are valid ?

Statements :

I.  Some ants are parrots.

II.  All the parrots are apples,
Conclusions :

1. All the apples are parrots.
2. Some ants are apples.

(A) Only1

(B) Only 2

(C) Both 1and 2

(D) Neither 1 nor 2

Which of these words’ mirror image will not
be exactly identical to the word itself?

(A) PAPA
(B) DAD

(C) MOM
(D) AMMA

Who among the following decides the
monetary policy of India ?

(A) NITI Aayog

(B) Finance Ministry

(C) Prime Minister’s Office
(D) Reserve Bank of India

%

The rate at which the RBI lends money to

(21)

196.

197.

198,

199.

A

Smriti Mandhana is a promising Indian
sportsperson associated with which sport ?

(A) Tennis
(B) Cricket
(C) Athletics
(D) Shooting

In which year was Delhi declared as the
Capital of India ?

(A) 1906
(B) 1908
(C) 1911
(D) 1927

A bag contains 2 red, 3 blue and 5 green balls,
If one ball is picked at random, then what is
the probability that it is not red in colour ?

(A) 02
(B) 08
(C) 015
(D) 05

What will be the next term of the series
“Al, C3, F7,J138,...”?

commercial banks during financial crisis is (A) P27
known as
(B) M25
(A) SLR
(B) Repo rate (©) o21
(C) Reverse repo rate (D) None of these
(D) Bank rate
200. Select the odd-one-out.

‘Maharaja’ is the mascot of which Indian (A) 124
organisation?
(Ay Indian Railways (B) 50
(B) Doordarshan (C) 65
(C) All India Radio D) 101
(D) Air India

Q: [191] 192 | 193|194 | 195|196 | 197 | 198 | 199 200

A: B A D B D B C B C A

As per corrected
key: A& D
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